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Use Substitution Rule to evaluate:

lee“dt
W= 3T
du = 34L
3t
@ = 4t
— 3
3t
b) 12e°* +C ﬁ@ua@f« - 9e%+c

c) 36e3 +C = f4e™ +C_ |




ANNOUNGEMENTS

 Dr. Hood’s Office Hours in Math 844
o Mon, Wed: 3:30-4:30pm
o Fri: 2:30-3:30pm

* TA’s Office Hours in (WTHR 313)
o Mon —Thu: 9:30am — 8:30pm
o Fri: 9:30am — 3:30pm



https://www.math.purdue.edu/academic/courses/helproom

ANNOUNGEMENTS

 Exam 3 Scores — most are posted
—Regrade Request:

* Must be submitted by 5pm Friday Dec 9

* Final Exam
—Tuesday Dec 13 at 8:00 am - 10:00 am



https://purdue.ca1.qualtrics.com/jfe/form/SV_0cU4iadAh8Txeqa

POLL 1

If% = 0.03y, then which of the following
functions could be y(t)?

M 0 D?)c)
a) y(t) = Acos(0.03t) M AX (M

| 0.03¢
b) y(t) = 0.03t + C/ ( . o.o%>

C) (t) — Ae@ 0. OZ) (Pr@o 02%)
= (0:03) 4




POLL 2

If Alice initially starts with yy, = 500 dollars in
her savings account, how long will it take her
to save up for her new phone at $10007?

003t
(t)< SVO ¢ = (000
@ 2years) T o Do
b) 0.7 years \ 0’3 = (D
doublirg ,%(23/\,—23
c) 48 years +wme 0 - 03
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If the population is y(t) = 10000e~9-05¢,

then how long will it take for the populat

to halve? (i.e. y(t) = 5000?) _op.o5t =
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c) t=

— - ln(l)
3) t = ln(%) & —a
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